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— M52 SNW2 IND NN 729132 (N2
Here it is by one robbery; here it is by two robberies

Overview

The X3 asked that from our 71wn we can infer that an ¥"Y may be sold twice.
However there is a Xn>12, which derives from the word! 1027132 that an ¥"v cannot
be sold twice. X217 responded that there is no contradiction; one ruling refers to one
72°13, and the other ruling refers to two m2°1x. There is a dispute between >"w1 and
MooIn, when he can be sold twice and when not.

- 99133 1N 1IN XN *D0Pa W

>'"w1 explained that in this case (where it was nnx 712°33), he is not resold a second time -
= HNN N2 DNRYD XD NNN N223)2 /N DY 99123 9IND 991

And this is what the P10 means, and he is sold one time for one 72913, but not

twice for one 17253 -
= $193%3) VA DY INY NIN 9919 baN

However he is sold two times for two n12°13; this is true -
= 9591231 1IN 9913 *HNN 397 NN MY 199N) 1NV 2NV 1Y 1772 1Y ND 199N

Even if he was not judged in court until he stole twice, but since he is worth

only the value of one 772°13, he is sold and resold -
=I92%)2 D22 1)9P NN RTN 594

For regarding each one (72°13) we call it '\n2°133'. This concludes this *"wAo.

NN continues with the XM and >"wAo:
- 4”‘13’)}: 1999 D15 1772 1PNV DY 1Y ON ¥HYN NIV I1NINA 7°999

And »2X asked, ‘the word 102132 can mean many M2°13; and *"wA explains, if the
213 appeared in court for both robberies at the same time,” all the robberies are

to be included when we read 1nas2 -
= IN A YN TN DA NNNIAY IPHITH

"' Tn 2,25 (2*vown) Nmw the 7109 states 12132 1M1 1 PR DK,

2 72013 380 772

3 The 213 stole from 1217 twice, each time a hundred 177, he was caught after both robberies and brought to court where
they ruled he owes 123%7 two hundred 17 If the 213 has no money at all to pay, and he is worth only one hundred 177 as a
slave, he can be sold twice, because the 7710 excludes with the word 1127132 not to be sold twice only if he stole once from
one person (then we read it 1n2°132 731, he is sold once for one of his robberies, but not twice), however if he stole twice
[even] from the same person; regarding each robbery, we say he shall be sold for his robbery, therefore he is sold twice.

* Even though 122132 is singular (his [one] robbery), nevertheless it can refer to many robberies, as he goes on to prove.
> See footnote # 3.
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As it is written, ‘and many 7772’ (in the singular), it is also written, ‘and the fish

(singular) which are in the river’. We see that the 7n uses the singular even when there
are many, the same should apply her since there was only one 1>72 7797, even though there were
many robberies, nevertheless all these robberies are included in the singular m:’m,(’ and it

should exclude him being sold twice for all these robberies which had one 1°72 772Y7.
- NDINT NID 99109 79N 591 19998

And nevertheless %21 rules that this is the case where he is resold! How can this be?!

The &3 and °"w9d continue:
= PIW 99193 120N N9 722352 199N HNN N2 )77 YV NN DTN INI NN

But rather (says »2X); ‘here it is one person’; >"wA explains, ‘if he was 172 TRy
one time even for many n12s13, he is not sold and resold again’, as nso1n explains -

— N0 N2%9) S8NT
For it is a half 7313, —

"1 continues:
= HNNI NNNX U5 HraYWA 99193 DY NV P72 IMN PINRYNY DTN 233723 YAN

However by two people, where both victims are taking him to court two times

(once for each robbery victim), he is sold for each and every robbery -
= 939UY IND 1Y 991239 9N SWOND NEIWN 23N 9N 99139 172 11 1) ON 111 NI

And the same law applies if he stole and was 72 72¥ and sold, and he stole
again (even) from the same person once he was free, he is resold. This concludes
the citation of >"vo.

nooIN asks on >"wAD:
- 9‘19}331 N N HNX NANA YUY NN HYP

And there is a difficulty with this which >''w9 explained that by one 72413 he is

not resold -
= 9TPIHN 295 XYY 19295 NY NINN XD NNT

% The usage of singular for plural is only when the plural are in one group (as the examples from 772 and 77
indicate), therefore if there was one 172 77m¥7 it is possible to call them all nAR 72°1, but not if there are many
172 MTava.

" Others amend this to read Tn (instead of 7111). The translation according to this %073 would be and nevertheless
(even though there are two robberies, but since there was only one 1°72 7171¥7) there is only one 25211!

8 »ax considers all the n12°33 which had one 172 117AY0 as one 112°1), therefore if he will be sold twice (in the case of
footnote # 3) it will be as each time he is being sold for half a 72°33 ,and the 770 writes 1027132 for his entire 72°13,
but not for half a 72°313 (see later in the X773 which states 11213 *X72 XYY X327 MK IN2°332)..

? This is referring to the explanation of both X271 and »ax where according to 21 he is not sold twice for one 72°1,
meaning that if he is only worth part of the 7213, we sell him once (and the victim receives a partial payment) but
not a second time (and according to >*2X this is true even if it was two N12°11 by one person but one 172 772V1).
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For this ruling of X327 and »2X is not according to the 3139 and not like R''" -
- 19951331 9390 99123 N 7N NIYI GIN 12933 191 1929 1IN MNP TNV NAT

For shortly the X2 states; 2''n, if his robbery was worth a thousand, and the

robber was worth five hundred, the rule is he is sold, and sold again -
= 99133 999191 X35 92%3) NN DN NP ININT INN XY 19 MTYHN 12999

And X271 does not coincide even with X''9, for X"7 maintains that if the value of

his robbery equals the value of robber’s sale price, only then is he sold -
- 1499123 19N NN DY 1IN ¥HWN 95 9913 139N INY ON)

And if not (if the values are not the same [as in the case of MX» 77 MW %X 72°13])

he is not sold at all, seemingly this means that he is not sold even one time. x2-
"R are therefore in disagreement with both the 7127 and &"-.

mooIn offers his interpretation:
= D2%)N Y9 BIYIY TY 9931 ATINI 9919 HNN NN JNI PNYY 13929 WY 75Y

Therefore the >''9 explained when X297 said nrR 773%132 382, the rule is that he is

sold and resold until he pays up for the entire robbery -
- y12533 55 DHYIY 1Y DNYD 11D 1MV YNIUN NN 19037

For the words 1n2%132 9221 indicates that he is sold many times until he pays up

for his entire robbery -
- PonN Dya NN 99190 NY 7112933 *PYa Yan

However by two robberies (from the same person), he is sold only one time.
= IN223)2 929 29759 1KY DTN INMIND 2321 9T 2307 NN ¥HWN NIV 1NN T99)

And 2R asked that 1n3°132 means many N12°13, meaning that where he stole and

stole again from the same person, that is indeed considered n2°133, and -
- M990 DYYIY 1Y 19737 NN

I should say that he is sold and resold until he pays up everything —
= MA)0N D2 1D OHYIY 1Y 99193 1KY DTN ININD 233 9N 23)T THN DTN 2IWN)

So M2X answered, by one person if he stole and stole again from the same

person, he is sold until he pays up for all the robberies -
1YY F9913 1N DTN 232 WA HAN N2 Y 1)NT

' This is not like »ax1 X271, who maintain that by one 1213 he is not resold. See ‘Thinking it over’ # 1.

e X217, however maintain that if his value is less than the 712°13 he is not resold, but he is sold one time for part of
the 7271,

12 This follows the view of the 1127 that 72»11 1M 771 (see text by footnote # 10).

" He is only sold for the first 72°3x (as many times as needed), but not for the second 71213, The meaning of 1N2°132 is
(that he is sold) for one 772713 only.

14 Since it is one victim, even though it was many robberies, it should be considered 1n2°133, and he should be sold
again and again until he pays up for all the robberies to this one person.

15 See w"wn who explains that according to *aX the word 12132 (singular) [not an2°131]) is referring to the victim
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For that is considered 1n2°133,'® however if he stole from two people he is not
sold and resold; he is only sold for the first one.

Summary
According to *"w7; X237 maintains that if he stole only once he is not resold, but he

1s sold twice if he stole twice (from the same person [even if there was only one
772 77Yn]). However 2R maintains that for one 1°72 772¥7 you are sold twice,
however if he stole from two people he is only sold once.

According to M»doIN; X211 maintains that if he stole once he is resold, if he sold
twice (from the same person) he is only sold for the first 72°1). However > 2aX
maintains that he is resold for the same person even for two n12°13, but he is not
resold if he stole from two people (he is sold just for the first).

PN N2

'R P72 77002 MI12°13 2 UHR 'R QTR |2 ;70nN N0 IR 'R TR 'R 7200 | ''wn
75711 N Q°WIR 22,7971 N IPK | TR PT2 3780 9OR 'R QTR M2IA
pElaky

,79731 N M2 ' PR 'R AR | M1 '3 7001 NN 'R QTR 'R 72013 "o
'3 N2V AN MATPR DWIR 22| 127 72013 M2V 01 NN IR 'K DTN

Thinking it over
1. m»on asks on *"wA that X217 does not follow the view of (either) the 7127 (or of

X'"7), for the 1327 say 225n1 MM 201 MIRD WA MW A28 12°1, while X271 maintains
that by one 72°1 he is not 79111 2N (only by two ma°13)."” Why cannot we answer
that according to °"w9 the term 77X 12°1 means by two M2, where X237 also
maintains 7131 R 2!

2. Does mpoin differentiate between one 1772 77477 or separate 72 MTHVA?
3.What would be the ruling (according to '@ and '01n) in a case where he stole

from one person and was sold, and then released and he stole again from the same
person; from another person‘?19

(the 2133), that he may sold many times to pay back one 2131 (1n2°132), but not for a second 2133.
'® See footnote # 14.

"7 See footnote # 10.

¥ See X"wmn.

" See ywir .
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